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NMR Spectra

Peak reports and multiplet assignments are provided for all *H, *C and °F NMR spectra. Compound peaks are highlighted in
and solvent peaks in . All 2D-NMR spectra are edited to highlight the correlation peaks. *C-HSQC spectra include

DEPT-135 information with —-CH— and —CHs correlation peaks in positive phase (red) while —CH>— correlation peaks in negative phase

(blue). For some compounds also ®N-HMBC NMR spectrum is available.
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6.8 Hz, 4H), 1.55— 1.16 (m, 16H),

6.9 Hz, 4H), 3.16 (br s, 1H), 1.82 (quint, J

0.8 Hz, 2H), 445 (t, J

0.8 Hz, 1H), 5.03 (app d, J =

1H '"H NMR (400 MHz, CDCls) 3 8.46 (app t, J
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13C  3C NMR (101 MHz, CDCly) § 170.4, 163.4 (sym, 2C), 157.7 (sym, 2C), 118.7, 67.3 (sym, 2C), 64.9, 31.8 (sym, 2C), 29.0 (sym, 2C), 28.6 (sym, 2C), 25.9 (sym, 2C), 22.7 (sym, 2C), 14.2 (sym, 2C).
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13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection ''N'NMR (41 MHz, CDCl;) & 289.21.
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1H "H NMR (400 MHz, CDCL;) 8 8.46 (app t, J = 0.8 Hz, 1H), 5.04 (d, J = 4.5 Hz, 2H), 445 (t, J = 6.8 Hz, 4H), 3.62 (t, J = 5.4 Hz, 1H), 1.82 (quint, J = 7.2 Hz, 4H), 1.51 — 1.18 (m, 20H),

0.88 (app t,J = 6.8 Hz, 6H).
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13C  3CNMR (101 MHz, CDCL;) § 170.4, 163.4 (sym, 2C), 157.7 (sym, 2C), 118.7, 67.3 (sym, 2C), 64.9, 31.9 (sym, 2C), 29.3 (sym, 2C), 29.3 (sym, 2C), 28.6 (sym, 2C), 26.0 (sym, 2C), 22.8 (sym, 2C),
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13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection

SN'NMR (41 MHz, CDCl;) § 289.29.
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1H '"H NMR (400 MHz, CDCl;) & 8.46 (app t,J = 0.7 Hz, 1H), 5.04 (s, 2H), 4.45 (t, J = 6.8 Hz, 4H), 3.59 (br s, 1H), 1.82 (quint, J = 7.1 Hz, 4H), 1.54 — 1.15 (m, 32H), 0.87 (t, J = 7.2 Hz, 6H).
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13C *CNMR (101 MHz, CDCl;) § 170.4, 163.4 (sym, 2c), 157.7 (sym, 2¢), 118.8, 67.3 (sym, 2c), 64.9, 32.0 (sym, 2c), 29.73 (sym, 2c), 29.71 (sym, 2c), 29.6 (sym, 2¢), 29.5 (sym, 2c), 29.4 (sym, 2c),

28.6 (sym, 2¢), 26.0 (sym, 2¢), 22.8 (sym, 2¢), 14.3 (sym, 2c).
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13C HSQC
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13C HMBC
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15N HMBC '>N'NMR (41 MHz, CDCl;) & 289.20.
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13C

SC NMR (101 MHz, CDCLy) § 170.3, 163.5, 163.1, 157.9, 157.7, 118.7, 79.3, 64.9, 63.2, 33.4, 27.6, 27.1,22.7, 14.3, 14.1,9.8.
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13C HSQC
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13C HMBC
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5.3 Hz, 2H), 3.71 (t,J = 5.3 Hz, 1H), 1.84 — 1.59 (m, 8H), 1.43 — 1.23 (m, 8H),

6.2 Hz, 2H), 5.02 (d, J =

0.8 Hz, 1H), 5.16 (app quint, J

"H NMR (400 MHz, CDCl;) § 8.41 (app t,J =
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13C  3CNMR (101 MHz, CDCly) § 170.3, 163.2 (sym, 2C), 157.9 (sym, 2C), 118.5, 79.2 (sym, 2C), 64.8, 33.3 (sym, 2C), 27.6 (sym, 2C), 27.0 (sym, 2C), 22.6 (sym, 2C), 14.1 (sym, 2C), 9.8 (sym, 2C).

~500

~450

400

~350

~300

250

—200

~150

~100

~50

9,8 (s) 5b,5a (s) 7b,7a (s)
163.25 27.60 14.06
2(s) 4,6 (s) 5(s) 3b,3a (s) 7 (s) 4b,4a (s) | | 6b,6a (s) 1b,1a (s)
170.31 157.90 118.53 79.19 64.84 33.30 22.63 9.77
2b,2a (s)
27.04
Hy HC
m\\eb -
| 8 A N LN
b = 288 9
4b 2 g NN N 8 Q
N NN AN < N
| RR P2 5o
O AN s \
a 1e e 2b
| | o
8 5 IR M
\\\T§5§ \\1T/// Xq %
X,
//7
X
N o 35 o
2 2 0 %
Xo)
o
]
o
S
WWW WA M At wmwwmwww«
T T T T T T T T T T T T T T T T T T T T
80 170 160 140 130 120 110 90 80 70 30 20 10

f1 (ppm)

S027



13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection "N NMR (41 MHz, CDCl;) & 289.47.
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1H 'HNMR (400 MHz, CDCl) & 8.42 (app t,J = 0.7 Hz, 1H), 5.18 (app quint, J = 6.1 Hz, 2H), 5.03 (d, J = 0.6 Hz, 2H), 3.33 (s, 1H), 2.05— 1.51 (m, 8H), 1.50 — 1.10 (m, 12H), 0.96 (t, J = 7.4 Hz, 6H),

0.87 (app t,J =7.0 Hz, 6H).
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13C BCNMR (101 MHz, CDCL) § 170.3, 163.3 (sym, 2C), 157.9 (sym, 2C), 118.6, 79.3 (sym, 2C), 64.9, 33.6 (sym, 2C), 31.7 (sym, 2C), 27.1 (sym, 2C), 25.1 (sym, 2C), 22.6 (sym, 2C), 14.1 (sym, 2C),
9.8 (sym, 2C).
5a,5b (s)
25.14
9,8 (s) 6a,6b (s) 8a,8b (s)
163.28 31.75 14.11
2((s) 6,4 (s) 5(s) 3a,3b (s) 7 (s) 4a,4b (s) 7a,7b (s) 1a,1b (s)
170.30 157.93 118.56 79.26 64.85 33.59 22.63 9.81
S 2a,2b (s)
8 27.07
SN N SN PN i 8
HsC 6a 4a 4b 6b CHy QIS
8a | '\\ ™~
H;C 3b
N, \(|) ” (|)/ N, 7
/8 5 9\
= \T/ ~ Xq
X,
P
— O oOoOWLmm
AQALNNT M
NN Q= S o
o) NN i o
MmN <+ @
[/ NA I
™M o
g3 g 2
™ N LN LN
S |8 2 3
8 o w
(o]
S
=
M ‘.-.,*.,l, e L A o i s N A W
T T T T T T T T T T T T T T T T T T T | 4 7
170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

f1 (ppm)



13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection
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ISN'NMR (41 MHz, CDCL) § 289.28.
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1H 'H NMR (400 MHz, CDCL) § 8.50 (app t,J = 0.7 Hz, 1H), 7.72 (s, 2H), 7.66 (d, J = 7.6 Hz, 2H), 7.63 (d, J = 7.9 Hz, 2H), 7.53 (t, J = 7.7 Hz, 2H), 5.51 (s, 4H), 5.03 (s, 2H), 3.60 (br s, 1H).
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BCNMR (101 MHz, CDCl;) § 170.7, 163.0 (sym, 2C), 157.2 (sym, 2C), 135.6 (sym, 2C), 132.1 (app q,J = 1.1 Hz, sym, 2C), 131.4 (q, J = 32.6 Hz, sym, 2C), 129.5 (sym, 2C), 125.9 (q, J = 3.7 Hz, sym, 2C),
13C 125.6 (q,J =3.9 Hz, sym, 2C), 123.9 (q, J = 272.4 Hz, sym, 2C), 119.0, 67.7 (sym, 2C), 64.9.
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13C HSQC
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13C HMBC
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15N HMBC

ISN'NMR (41 MHz, CDCL) § 290.66.
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19F 'F NMR (376 MHz, CDCl;) § -62.73.
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1H 'H NMR (400 MHz, CDCl;)  8.49 (app q,J = 0.7 Hz, 1H), 5.04 (s, 2H), 4.52 (q, J = 7.1 Hz, 4H), 3.61 (s, 1H), 1.46 (t, J = 7.1 Hz, 6H).
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13C"“C NMR (101 MHz, CDCl;) & 170.4, 163.4 (sym, 2C), 157.6 (sym, 2C), 118.8, 64.9, 63.2 (sym, 2C), 14.3 (sym, 2C).
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13C HSQC
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13C HMBC
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1H "H NMR (400 MHz, CDCl;) 8 'H NMR (400 MHz, CDCl;) 8 4.69 (s, 2H), 4.40 (t, J = 5.9 Hz, 2H), 4.37 (t, J = 6.1 Hz, 2H), 3.40 (br s, 1H), 2.28 (s, 3H), 1.85 — 1.65 (m, 4H), 1.49 — 1.38 (m, 4H),

1.37-1.30 8H), 1.02 - 0.74 .
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13C BCNMR (101 MHz, CDCL) § 169.2, 165.8, 165.3, 154.5, 116.3, 67.7, 66.4, 64.2, 31.6, 31.5, 28.7, 28.6, 25.8, 25.7, 22.69, 22.65, 14.13, 14.11, 11.1.
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13C HSQC
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13C HMBC
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6.3 Hz, 2H), 3.55 (br s, 1H), 2.27 (s, 3H), 1.91 — 1.65 (m, 4H), 1.52 — 1.36 (m, 4H), 1.38 — 1.17 (m, 12H),

'H NMR (400 MHz, CDCL;)  4.69 (s, 2H), 439 (t, J = 6.1 Hz, 2H), 4.36 (t, J
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13C CNMR (101 MHz, CDCL) § 169.2, 165.7, 165.3, 154.5, 116.3, 67.7, 66.4, 64.2,31.9, 31.8, 29.1, 29.0, 28.8, 28.7, 26.1, 26.0, 22.72, 22.69, 14.19, 14.18, 11.0.
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13C HSQC
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13C HMBC
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1H 'H NMR (400 MHz, CDCL;)  4.69 (s, 2H), 4.39 (t, J = 6.3 Hz, 2H), 4.36 (t, J = 6.4 Hz, 2H), 3.22 (br s, 1H), 2.27 (s, 3H), 1.85— 1.70 (m, 4H), 1.50 — 1.36 (m, 4H), 1.38 — 1.19 (m, 16H), 0.8 (app t, J = 6.7 Hz, 3H),

0.87 (app t,J=7.1 Hz, 3H). b () 38,30 (m)| [ 8 (app 1
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13C BCNMR (101 MHz, CDCL) § 169.2, 165.7, 165.3, 154.5, 116.3, 67.8, 66.4, 64.2,31.91, 31.88, 29.4, 29.33, 29.30, 29.28, 28.74, 28.66, 26.1, 26.0, 22.78, 22.76, 14.22, 14.21, 11.1.
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13C HSQC
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13C HMBC
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1H

'"H NMR (400 MHz, CDCL;) 8 4.68 (s, 2H), 4.29 (d, J = 4.4 Hz, 2H), 4.28 (d, J = 4.7 Hz, 2H), 3.59 (br s, 1H), 2.28 (s, 3H), 1.93 — 1.70 (m, 2H), 1.46 — 1.28 (m, 16H), 1.01 — 0.77 (m, 12H).

1b (d) 3a,3b,4a,4b,6a,6b,7a,7b (m)
4.28 1.36 6000
7 (s) la (d) 10 (br s) 8 (s) 2a,2b (m) 5a,5b,8a,8b (m)
4.68 4.29 3.59 2.28 1.82 0.90
—5500
NN OST NN WOIMN
M ANN—HOO O 0NN
A OYO)Y O) O) CO O CO O
H.C CH © coocoocococoo
T w5 P N ——_ 2 5000
NN NN o
| | T T
o~ CALD 4500
2d 2b
| | TMOUNAANNMOVONOOIN-HOUV
RN > ' SSEEARRERRRTRARE
5a T | ™
5 9
\\\6/// Q§§4/// §§:O
” | —3500
N N
NS
| ~3000
7 EB DR
Ho™ YT
10 2 500
g
<+
—2000
—1500
[92]
=
'_
2
< 1000
o s @
[a) O |
e e © |
o o [00]
R 2 i -500
n
| | |
| | |
l A /JL\ M_JL A _o
™ o 0o
o)) — o
— < o
T T T T T T T T T T T T T T T T T
'5 6.0 5.5 5.0 4.5 3.0 2.5 2.0 1.5 1.0 0.5 0.0 S061

4.0 3.5
f1 (ppm)



13C 3CNMR (101 MHz, CDCL) § 169.3, 165.9, 165.3, 154.5, 116.2, 704, 69.0, 64.1, 37.1, 37.0, 33.9 (sym, 2C), 33.7 (sym, 2C), 20.1 (sym, 2C), 20.0 (sym, 2C), 14.51 (sym, 2C), 14.48 (sym, 2C), 11.1.
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13C HSQC
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13C HMBC
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1H '"H NMR (400 MHz, CDCL;) § 5.27 (quint, J = 5.9 Hz, 1H), 5.13 (quint, J = 6.1 Hz, 1H), 4.66 (s, 2H), 3.62 (br's, 1H), 2.24 (s, 3H), 1.84 — 1.52 (m, 8H), 1.47 — 1.18 (m, 8H), 0.98 (t, J = 7.4 Hz, 3H),

0.91 (t,J=7.4 Hz, 3H), 0.91 (app t, J = 7.0 Hz, 3H), 0.89 (app t, J = 6.9 Hz, 3H). 7b (app t)
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13C BCNMR (101 MHz, CDCl;) § 169.1, 165.9, 165.1, 155.4, 115.5, 78.4, 78.1, 64.1, 33.4,33.1, 27.7,27.5, 27.1, 26.7,22.8, 22.7, 14.1 (2C), 11.1, 9.8, 9.6.
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13C HSQC
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13C HMBC
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1H 'HNMR (400 MHz, CDCL;) 8 7.71 (s, 2H), 7.68 — 7.58 (m, 4H), 7.52 (t, J = 7.7 Hz, 2H), 5.52 (s, 2H), 5.46 (s, 2H), 4.73 (s, 2H), 3.42 (br s, 1H), 2.33 (s, 3H).
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13C NMR (101 MHz, CDCL) § 168.68, 165.49, 164.96, 154.06, 136.87, 136.23, 131.69 (app q,J = 1.1 Hz), 131.36 (app q,J = 1.0 Hz), 131.31 (d, J = 32.7 Hz), 131.25 (d, J = 32.4 Hz), 129.41, 129.34,
13C  125.56 (q,J = 3.8 Hz), 12537 (q,J = 3.9 Hz), 125.16 (q, J = 3.5 Hz), 124.92 (q, J = 3.7 Hz), 117.19, 68.29, 66.84, 64.24, 11.11.
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13C HSQC
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13C HMBC
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19F

'F NMR (376 MHz, CDCL) § -62.73, -62.74.
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1H 'H NMR (400 MHz, CDCl5) § 7.71 (s, 1H), 7.67 — 7.58 (m, 2H), 7.52 (t, J = 7.7 Hz, 1H), 5.53 (s, 2H), 4.74 (app d, J = 0.5 Hz, 2H), 3.98 (s, 3H), 3.06 (s, 1H), 2.37 (s, 3H).
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13C *C NMR (101 MHz, CDCl) 3 168.7, 165.7, 165.4, 1543, 136.9, 131.3 (app q,J = 1.0 Hz), 131.3 (q, J = 32.5 Hz), 129.3, 125.3(q, J = 3.9 Hz), 124.9 (q, J = 3.8 Hz), 124.1 (q, J = 272.4 Hz), 117.2,

68.3,64.3,53.1, 11.1.
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13C HSQC
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13C HMBC

e L

~10

55

60

65

~70

115

(wdd) 14

120
125

~130

135

155

165

~-170

©
~

©
[Fp]

3a

|

4.74 4.72 4.00 3.98 3.96

5.54 5.52 5.50

f2 (ppm)

S079

2.38 2.36 2.34

7.54 7.52 7.50

7.74 772 7.70 7.66 7.64 7.62 7.60



6.1 Hz, 1H), 4.71 (s, 2H), 3.30 (br s, 1H), 2.32 (s, 3H), 1.81 — 1.59 (m, 4H),

'"H NMR (400 MHz, CDCls) §7.71 (s, 1H), 7.66 — 7.58 (m, 2H), 7.52 (t, J = 7.7 Hz, 1H), 5.52 (s, 2H), 5.13 (quint, J

1H 1.44— 1.27 (m, 4H), 0.98 (t, J = 7.4 Hz, 3H), 0.91 (app t, J

7.0 Hz, 3H).

10-(br-s)
3.30

5a,7a (m)
7.62

Y0E'E— 6bL T pOEE——
\Cﬁl
K< 1LY —
2 660°S
5 @ $IT'S
&5 Hﬂ.ml\ﬁu
@ ox.m\
Py 791°S
N . __J
AT 8TS'S =
o
I
Oe
/b
/
= \
oe g
\ /
8—8 o
ot
V\TN//B
c = 861"/
N O o—0 N €10dD 09¢°L a.mu.P../ <
EOIN /6H N\1 /00 mmm.m%
g / ET So.mV
er °—0 509°Z
% ~

919'L7r—
129,
S€9'L

STLL

o o o o o
o o o o o o
o o o o o o
o LN o LN o o
P o o T T P <
T
SWL Z00°0- CEET
LEE'TA
0vE'TH
PHET
888'0~" - 8v€'11
| e
= S06'0 8950 £SE'TH
- Wl €60~ mom.O/
2| =3 £26'0~%
Sc||e 096°0-F
=2 6£6'0 B66°0
© 866'0~_ _
n —
E
PEN
N~
o)
<
RS
o N ceee

—SH'T |

1.0

5.5

7.5

0.5 0.0 S080

4.5 4.0 3.5 3.0 2.5 2.0 1.5
f1 (ppm)

5.0

6.0

6.5

7.0

8.0



3C NMR (101 MHz, CDCL;) 5 168.5, 165.4, 165.3, 155.7, 137.0, 131.3 (app q,J = 1.3 Hz), 131.2 (q, J = 32.6 Hz), 129.3, 125.3 (¢, J = 3.8 Hz), 124.9 (¢, J = 3.8 Hz), 124.1 (q, J=272.4 Hz), 115.7, 78.3,
13C 68.1,64.1,33.4,27.6,27.1,22.7,14.1,11.1, 9.8.
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13C [118.5 — 132.5 ppm]
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13C HSQC
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13C HMBC
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1H 'HNMR (400 MHz, CDCL) § 5.12 (quint, J = 6.1 Hz, 1H), 4.67 (s, 2H), 4.39 (t, J = 6.6 Hz, 2H), 3.62 (br s, 1H), 2.26 (s, 3H), 1.84 — 1.60 (m, 6H), 1.50 — 1.21 (m, 12H), 0.98 (t, J = 7.4 Hz, 3H),
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13C *CNMR (101 MHz, CDCL;) § 169.1, 165.7, 165.3, 155.2, 115.5, 78.1, 67.7, 64.1, 33.4, 31.9, 29.1, 28.8, 27.6, 27.1, 26.1, 22.73, 22.69, 14.2, 14.1, 11.0, 9.8.
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13C HSQC
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13C HMBC
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15N HMBC

ISN'NMR (41 MHz, CDCL;) § 252.76, 243.69.
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BCNMR (101 MHz, CDCLy) § 169.3, 165.4, 165.2, 153.5, 136.3, 131.7 (app q,J = 1.3 Hz), 131.3 (q, J = 32.8 Hz), 1294, 125.5 (q,J = 3.8 Hz), 125.1 (q, J = 3.9 Hz), 124.0 (q, J = 272.2 Hz), 117.1,
13C 67.9,66.7,64.2,31.9,29.1,28.7,26.1,22.7, 14.2, 11.1.
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15N HMBC

ISN'NMR (41 MHz, CDCl;) § 253.62, 244.66.
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1H "H NMR (400 MHz, CDCL;) 8 5.26 (quint, J = 5.8 Hz, 1H), 4.68 (s, 2H), 3.96 (s, 3H), 3.45 (br s, 1H), 2.29 (s, 3H), 1.76 — 1.60 (m, 4H), 1.39 — 1.20 (m, 4H), 0.91 (t, J = 7.4 Hz, 3H), 0.88 (app t,J = 7.1 Hz, 3H).
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13C  "*CNMR (101 MHz, CDCL) & 169.3, 166.0, 165.1, 153.9, 117.1, 78.7, 64.3, 53.0, 33.0, 27.5, 26.7, 22.7, 14.1, 11.1, 9.6.
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13C HSQC
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5.9 Hz, 1H), 4.68 (s, 2H), 3.02 (br s, 1H), 2.26 (s, 3H),
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13CNMR (101 MHz, CDCL) § 169.3, 165.3 (2C), 153.6, 136.3, 131.7 (app q,J = 1.1 Hz), 131.3 (q, J = 32.4 Hz), 129.4, 125.5 (q, J = 3.8 Hz), 125.2 (q, J = 3.8 Hz), 124.0 (q, J =272.3 Hz), 117.1, 78.8,
13C  66.7, 64.2,33.0,27.5,26.7,22.7, 14.1, 11.1, 9.6.
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13C[118.5
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13C HSQC
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13C HMBC
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1H 'H NMR (400 MHz, CDCls) 3 8.51 (app t, J = 0.6 Hz, 1H), 7.02 — 6.93 (m, 2H), 6.85 — 6.76 (m, 2H), 5.42 (s, 2H), 4.52 (q, J = 7.1 Hz, 4H), 3.75 (s, 3H), 1.45 (t, J = 7.1 Hz, 6H).
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13C *CNMR (101 MHz, CDCly) § 167.9, 163.5 (sym, 2C), 158.1 (sym, 2C), 154.4, 152.6, 119.1, 116.4 (sym, 2C), 114.7 (sym, 2C), 71.5, 63.2 (sym, 2C), 55.8, 14.3 (sym, 2C).
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13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection

I5N'NMR (41 MHz, CDCl;) § 297.15.
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1H "H NMR (400 MHz, CDCL;) 8 8.48 (app t,J = 0.6 Hz, 1H), 7.02 — 6.95 (m, 2H), 6.85 — 6.77 (m, 2H), 5.42 (s, 2H), 4.4 (t, J = 6.9 Hz, 4H), 3.75 (s, 3H), 1.82 (quint, J = 6.9 Hz, 4H), 1.49 —

1.21 (m, 16H), 0.89 (app t,J = 7.0 Hz, 6H).
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13C BCNMR (101 MHz, CDCLy) § 168.0, 163.6 (sym, 2C), 158.1 (sym, 2C), 154.4, 152.6, 119.1, 116.4 (sym, 2C), 114.7 (sym, 2C), 71.5, 67.3 (sym, 2C), 55.8, 31.8 (sym, 2C), 29.0 (sym, 2C), 28.6
(sym, 2C), 25.9 (sym, 2C), 22.7 (sym, 2C), 14.2 (sym, 2C).

9,8 (s)

163.59 | | 154.44

4c (s)

2(9)
168.00

64 (s)
158.09

168.003
163.594

1c (s)
152.63

158.093
_~154.440
—152.631

3c,5¢ (s)
116.44

77.160 CDCI3

5(s) 7(8)
119.09 71.51

1a,1b (s)
67.27

—119.087
—-116.436

2¢,6¢ (s)
114.67

114.669

67.266

3a,3b (s)
25.92

4a,4b (s)
29.02

7c(s)
55.77

5a,5b (s)
31.81

55.771

2a,2b (s)
28.63

7a,7b (s)
14.19

6a,6b (s)
22.71

_-31.811

29.020
\-28.625
™\-25.918
~22.712

14.193

~600

~550

~500

~450

400

~350

~300

250

—200

~150

—100

~50

170 160

150

130

120

T T T T T T T T T
110 100 90 80 70
f1 (ppm)

S112



13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection SN NMR (41 MHz, CDCL;) § 297.28.
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1H 'H NMR (400 MHz, CDCL;)  8.48 (app t,J = 0.6 Hz, 1H), 7.04 — 6.89 (m, 2H), 6.88 — 6.73 (m, 2H), 5.42 (s, 2H), 4.4 (t, J = 6.9 Hz, 4H), 3.75 (s, 3H), 1.82 (quint, J = 6.9 Hz, 4H), 1.49 — 1.14 (m, 20H),

0.88 (app t,J = 7.0 Hz, 6H).
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13C 3C NMR (101 MHz, CDCl) § 168.0, 163.6 (sym, 2C), 158.1 (sym, 2C), 154.4, 152.6, 119.1, 116.4 (sym, 2C), 114.7 (sym, 2C), 71.5, 67.3 (sym, 2C), 5.8, 31.9 (sym, 2C), 29.32 (sym, 2C),

29.28 (sym, 2C), 28.6 (sym, 2C), 26.0 (sym, 2C), 22.8 (sym, 2C), 14.2 (sym, 2C).
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13C HSQC
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15N HMBC
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15N HMBC f1 Projection "N NMR (41 MHz, CDCl;) § 297.32.
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1H 'H NMR (400 MHz, CDCls) 3 8.48 (s, 1H), 7.02 — 6.95 (m, 2H), 6.85 — 6.78 (m, 2H), 5.43 (s, 2H), 4.4 (t, J = 6.9 Hz, 4H), 3.76 (s, 3H), 1.82 (quint, J = 6.9 Hz, 4H), 1.48 — 1.17 (m, 32H),

0.87 (app t, J = 6.7 Hz, 6H).
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13C 3CNMR (101 MHz, CDCL) § 168.0, 163.6 (sym, 2C), 158.1 (sym, 2C), 154.4, 152.6, 119.1, 116.4 (sym, 2C), 114.7 (sym, 2C), 71.5, 67.3 (sym, 2C), 55.8, 32.0 (sym, 2C), 29.74 (sym, 2C), 29.72 (sym, 2C),

29.6 (sym, 2C), 29.5 (sym, 2C), 29.4 (sym, 2C), 28.6 (sym, 2C), 26.0 (sym, 2C), 22.8 (sym, 2C), 14.3 (sym, 2C). 38,30 (5)
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13C HSQC
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13C HMBC

S L MJMJJ\&

3c¢,5¢ 2c,6C

11b,11a
10a,10b

3a,3b 0
22,2 5 o1 82 8b 6a,6b 7a,7b 4a,4b
9a,9b
7c
1a,1b

7

13,1b

7cC

2a,2b —3a,4a,5a%a,7a,8a,3b,4b,5b,6b, 7b 8b,9a,10a,9b,10b ~10

11b,11a I
15
=

20
-25
-30
35
55
65

~70

115
120

9 CH5 7150

2NN . 100 | 1B
A
SN L
160
165
170
T T T T T L] T T T T T /{_-

8.50 7.00 6.9685 6.80

545 540 4.50

4.40 3.75

f2 (ppm)

1.85 1.80

145 140 135 1.30 1.25

0.90 0.85-1.05S126

f1 (ppm)



15N HMBC
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15N HMBC f1 Projection  'SN NMR (41 MHz, CDCly) § 297.32.
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7.1 Hz, 2H), 3.75 (s, 3H), 1.85 —

6.1 Hz, 1H),4.53 (q,J

0.6 Hz, 1H), 7.05 — 6.90 (m, 2H), 6.88 — 6.76 (m, 2H), 5.43 (s, 2H), 5.17 (app quint, J =

'H NMR (400 MHz, CDCls) & 8.47 (app t, J
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13C 3CNMR (101 MHz, CDCly) 8 168.0, 163.7, 163.2, 158.4, 158.0, 154.4, 152.7, 119.0, 116.5 (sym, 2C), 114.7 (sym, 2C), 79.2, 71.5, 63.2, 55.8, 33.3, 27.6, 27.1,22.7, 14.3, 14.1,9.8.
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13C HSQC
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13C HBMC
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6.1 Hz, 2H), 3.75 (s, 3H), 1.92 — 1.55 (m, 8H), 1.42 — 1.22 (m, 8H),

0.6 Hz, 1H), 7.07 — 6.92 (m, 2H), 6.88 — 6.70 (m, 2H), 5.44 (s, 2H), 5.16 (app quint, J

1H '"HNMR (400 MHz, CDCl;) & 8.42 (app t, J
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13C 3CNMR (101 MHz, CDCly) § 168.0, 163.4 (sym, 2C), 158.3 (sym, 2C), 154.4, 152.7, 118.8, 116.6 (sym, 2C), 114.6 (sym, 2C), 79.1 (sym, 2C), 71.5, 55.8, 33.3 (sym, 2C), 27.6 (sym, 2C),

27.0 (sym, 2C), 22.7 (sym, 2C), 14.1 (sym, 2C), 9.8 (sym, 2C).
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13C HSQC
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'H NMR (400 MHz, CDCls) & 8.42 (app t, J = 0.6 Hz, 1H), 7.03 — 6.95 (m, 2H), 6.84 — 6.77 (m, 2H), 5.44 (s, 2H), 5.16 (app quint, J = 6.2 Hz, 2H), 3.75 (s, 3H), 1.83 — 1.59 (m, 8H), 1.46 — 1.21 (m, 12H),

1H 0.95 (t,J=7.4 Hz, 6H), 0.87 (app t, J = 6.8 Hz, 6H).
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13C 3C NMR (101 MHz, CDCL) § 168.0, 163.4 (sym, 2C), 158.3 (sym, 2C), 154.4, 152.7, 118.8, 116.6 (sym, 2C), 114.6 (sym, 2C), 79.1 (sym, 2C), 71.6, 55.8, 33.6 (sym, 2C), 31.8 (sym, 2C), 27.0

(sym, 2C), 25.1 (sym, 2C), 22.6 (sym, 2C), 14.1 (sym, 2C), 9.8 (sym, 2C). S 750
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13C HSQC
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13C HMBC
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ALI-009_Fr1-3_CDCI3.5.ser — 15N HMBC
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15N HMBC f1 Projection

ISN'NMR (41 MHz, CDCL) § 298.06.
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1H 'H NMR (400 MHz, CDCL) § 8.53 (app t, J = 0.6 Hz, 1H), 7.73 (s, 2H), 7.69 — 7.60 (m, 4H), 7.52 (t, J = 7.7 Hz, 2H), 7.02 — 6.89 (m, 2H), 6.83 — 6.74 (m, 2H), 5.51 (s, 4H), 5.43 (s, 2H), 3.74 (s, 3H).
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13C NMR (101 MHz, CDCL) § 168.3, 163.2 (sym, 2C), 157.6 (sym, 2C), 154.5, 152.5, 135.7 (sym, 2C), 132.1 (app q,J = 1.1 Hz, sym, 2C), 1313 (q, J = 32.5 Hz, sym, 2C), 129.5 (sym, 2C),

13C 125.8 (q,J=3.7Hz,sym, 2C), 125.5 (q, J = 3.8 Hz, sym, 2C), 124.0 (q, J =272.3 Hz, sym, 2C), 119.4, 116.4 (sym, 2C), 114.7 (sym, 2C), 71.3, 67.7 (sym, 2C), 55.8.
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118.5 ppm]

13C [132.5
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13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection
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1H 'HNMR (400 MHz, CDCL) § 11.05 (brs, 1H), 6.98 — 6.89 (m, 2H), 6.89 — 6.79 (m, 2H), 4.98 (s, 2H), 4.43 (q, J = 7.1 Hz, 2H), 3.76 (s, 3H), 2.25 (s, 3H), 1.41 (t,J = 7.1 Hz, 3H).
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13C “CNMR (101 MHz, CDCL;) § 165.5, 163.5, 155.1, 154.7, 151.1, 150.0, 125.3, 115.9 (sym, 2C), 115.0 (sym, 2C), 67.3, 62.4, 55.8, 14.3, 11.8.
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13C HSQC
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13C HMBC
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1H 'HNMR (400 MHz, CDCL;) 5 7.04 — 6.88 (m, 2H), 6.88 — 6.73 (m, 2H), 5.20 (s, 2H), 4.47 (q, J = 7.2 Hz, 2H), 3.76 (s, 3H), 2.50 (s, 3H), 1.42 (t, J = 7.2 Hz, 3H).
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13C *CNMR (101 MHz, CDCl;) § 164.6, 164.0, 158.2, 156.9, 154.5, 152.6, 130.2, 116.4 (sym, 2C), 114.7 (sym, 2C), 71.0, 62.9, 55.8, 17.8, 14.2.
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13C HSQC
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13C HMBC
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15N HMBC
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15N HMBC f1 Projection 'N NMR (41 MHz, CDCL) & 300.81, 280.95.
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'H NMR (400 MHz, CDCl) Sppm 6.98 — 6.86 (m, 2H), 6.86 — 6.75 (m, 2H), 5.14 (s, 2H), 4.37 (t,J = 6.9 Hz, 2H), 4.35 (t, J = 6.7 Hz, 2H), 3.75 (s, 3H), 2.27 (s, 3H), 1.78 (quint, J = 6.9 Hz, 2H), 1.71
1H (quint, J=7.6, 6.8 Hz, 2H), 1.47 — 1.17 (m, 16H), 0.89 (app t,J = 6.9 Hz, 3H), 0.88 (app t, J = 6.8 Hz, 3H).
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13C BCNMR (101 MHz, CDCL) § 169.3, 165.8, 163.1, 155.0, 154.1, 152.9, 116.6, 116.1 (sym, 2C), 114.6 (sym, 2C), 71.2, 67.7, 66.4, 55.8, 31.9, 31.8, 29.1, 29.0, 28.74, 28.67, 26.04, 25.98, 22.73, 22.71, 14.22,
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13C HMBC
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7.0 Hz, 2H),

6.6 Hz, 2H), 3.75 (s, 3H), 2.27 (s, 3H), 1.77 (quint, J =
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13C *CNMR (101 MHz, CDCl) 8 169.3, 165.9, 163.1, 155.1, 154.1, 152.9, 116.6, 116.1 (sym, 2C), 114.6 (sym, 2C), 71.2, 67.7, 66.4, 55.8, 31.94, 31.91, 29.39, 29.35, 29.33, 29.30, 28.74, 28.66, 26.1, 26.0,
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13C HSQC
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13C HMBC
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'H NMR (400 MHz, CDCL) § 6.98 — 6.84 (m, 2H), 6.84 — 6.69 (m, 2H), 5.19 (quint, J = 5.9 Hz, 1H), 5.13 (s, 2H), 5.12 (app quint, J = 6.0 Hz, 1H), 3.74 (s, 3H), 2.22 (s, 3H), 1.79 — 1.63 (m, 4H),
1H 1.67- 1.51 (m, 4H), 1.47 — 1.29 (m, 4H), 1.32 — 1.13 (m, 4H), 0.98 (t, /= 7.4 Hz, 3H), 0.91 (app t,J = 7.0 Hz, 3H), 0.85 (app t, J = 6.8 Hz, 3H), 0.84 (t, J = 7.4 Hz, 3H).
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13C BCNMR (101 MHz, CDCL) § 169.2, 166.1, 163.1, 156.2, 154.0, 153.0, 116.0 (sym, 2C), 115.5, 114.6 (sym, 2C), 78.2, 78.1, 70.9, 55.8, 33.3, 33.0, 27.6, 27.4, 27.0, 26.6, 22.74, 22.72, 14.1 (2C),

11.1,9.8,9.5.
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13C HSQC
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13C HMBC
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1H 'HNMR (400 MHz, CDCL) § 9.25 (br s, 1H), 7.02 — 6.85 (m, 2H), 6.85 — 6.68 (m, 2H), 5.12 (s, 2H), 4.40 (t, J = 6.6 Hz, 2H), 3.76 (s, 3H), 2.57 (s, 3H), 1.77 (quint, J = 6.8 Hz, 2H), 1.53 — 1.20 (m, 6H),

0.90 (app t, J = 6.8 Hz, 3H).
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13C BCNMR (101 MHz, CDCL) § 170.6, 163.6, 161.7, 154.4, 152.5, 148.4, 120.8, 115.9 (sym, 2C), 114.8 (sym, 2C), 70.3, 68.5, 55.8, 31.6, 28.6, 25.7, 22.7, 14.1, 10.7.
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13C HSQC
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13C HMBC
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1H '"H NMR (400 MHz, CDCl3) & 8.90 (br s, 1H), 6.94 — 6.86 (m, 2H), 6.85 — 6.77 (m, 2H), 5.12 (s, 2H), 4.30 (d, J = 5.6 Hz, 2H), 3.76 (s, 3H), 2.57 (s, 3H), 1.91 — 1.75 (m, 1H), 1.46 — 1.28 (m, 8H),

0.96 - 0.86 (m, 6H).
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13C *CNMR (101 MHz, CDCL) § 170.7, 163.8, 161.7, 154.4, 152.5, 148.7, 120.8, 116.0 (sym, 2C), 114.8 (sym, 2C), 71.1, 70.3, 55.8, 37.1, 33.8 (sym, 2C), 20.1 (sym, 2C), 14.5 (sym, 2C), 10.7.
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13C HSQC
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13C HMBC
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1H 'H NMR (400 MHz, CDCl) § 9.47 (brs, 1H), 7.71 (s, 1H), 7.62 (d, J = 7.6 Hz, 2H), 7.50 (t, J = 7.7 Hz, 1H), 6.99 — 6.86 (m, 2H), 6.86 — 6.76 (m, 2H), 5.52 (s, 2H), 5.16 (s, 2H), 3.7 (s, 3H), 2.63 (s, 3H). .
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13C 3CNMR (101 MHz, CDCL) § 170.0, 163.2, 161.8, 154.5, 152.5, 149.0, 136.6, 131.7 (d, J = 1.1 Hz), 129.3, 125.4 (d, J = 3.9 Hz), 125.2 (d, J = 3.7 Hz), 121.1, 115.9 (sym, 2C), 114.9 (sym, 2C), 70.2,

68.8,55.8, 10.8. 32 (d)
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13C HSQC
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13C HMBC
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19F

'F NMR (376 MHz, CDCl;) § -62.69.
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1H

'H NMR (400 MHz, CDCL;)  9.37 (br s, 1H), 6.93 — 6.87 (m, 2H), 6.85 — 6.78 (m, 2H), 5.13 (s, 2H), 441 (t, J = 6.6 Hz, 2H), 3.76 (s, 3H), 2.58 (s, 3H), 1.78 (quint, J = 7.2 Hz, 2H),

f1 (ppm)
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13C “CNMR (101 MHz, CDCL) § 170.6, 163.5, 161.7, 154.4, 152.6, 148.4, 120.9, 116.0 (sym, 2C), 114.8 (sym, 2C), 70.3, 68.5, 55.8, 31.9, 29.1, 28.7, 26.0, 22.7, 14.2, 10.7
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13C HSQC
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13C HMBC
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13C BCNMR (101 MHz, CDCL) § 170.6, 163.7, 161.6, 154.4, 152.6, 148.6, 120.9, 115.9 (sym, 2C), 114.8 (sym, 2C), 79.5, 70.2, 55.8, 32.9, 27.5, 26.6, 22.7, 14.1, 10.7, 9.6.
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13C HSQC
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7.2 Hz, 2H),

6.7 Hz, 2H), 3.75 (s, 3H), 2.26 (s, 3H), 1.77 (quint, J =

1H 'H NMR (400 MHz, CDCl;) & 7.00 — 6.86 (m, 2H), 6.86 — 6.72 (m, 2H), 5.13 (s, 2H), 4.37 (t, J = 6.9 Hz, 2H), 4.35 (¢, J
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13C “CNMR (101 MHz, CDCL;) § 169.3, 165.9, 163.1, 155.1, 154.1, 153.0, 116.6, 116.1 (sym, 2C), 114.6 (sym, 2C), 71.2, 67.6, 66.4, 55.8, 31.6, 31.5, 28.7, 28.6, 25.73, 25.68, 22.7, 22.6, 14.1 (2C), 11.1.
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13C HSQC
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13C HMBC
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'"H NMR (400 MHz, CDCls) & 6.98 — 6.86 (m, 2H), 6.86 — 6.74 (m, 2H), 5.13 (s, 2H), 4.29 (d, J = 5.8 Hz, 2H), 4.25 (d, J = 5.6 Hz, 2H), 3.75 (s, 3H), 2.26 (s, 3H), 1.93 — 1.67 (m, 2H), 1.44 — 1.24 (m, 16H),
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13C NMR (101 MHz, CDCL) § 169.4, 166.1, 163.1, 155.3, 154.1, 153.0, 1163, 1162 (sym, 2C), 114.6 (sym, 2C), 71.3, 70.2, 69.0, 55.8, 37.1, 37.0, 33.9 (sym, 2C), 33.6 (sym, 2C), 20.1 (sym, 2C),
13C  20.0 (sym, 2C), 14.54 (sym, 2C), 14.50 (sym, 2C), 11.1.
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13C HSQC
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13C HMBC
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13C *CNMR (101 MHz, CDCL;) § 168.7, 165.1, 163.3, 154.7, 154.2, 152.8, 137.0, 136.3, 131.7 (2C), 129.4, 129.2, 125.6 — 125.3 (m, 2C), 125.3 — 125.0 (m, 2C), 117.5, 116.0 (sym, 2C), 114.7 (sym, 2C),
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13C HSQC
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13C HMBC
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1H 'H NMR (400 MHz, CDCL;) 8 7.69 (s, 1H), 7.64 — 7.51 (m, 2H), 7.45 (t, J = 7.7 Hz, 1H), 6.97 — 6.86 (m, 2H), 6.85 — 6.75 (m, 2H), 5.47 (s, 2H), 5.17 (s, 2H), 3.98 (s, 3H), 3.76 (s, 3H), 2.36 (s, 3H).
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3C NMR (101 MHz, CDCly) & 168.8, 165.7, 163.1, 154.7, 154.2, 152.8, 137.1, 131.7 (app q,J = 1.2 Hz), 131.1 (d, J = 32.4 Hz), 129.2, 126.8 (d,J = 271.1 Hz), 125.2 (q,J = 3.9 Hz), 125.1 (q, J = 3.9 Hz),
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13C HSQC
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13C HMBC
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6.5 Hz, 1H), 3.76 (s, 3H),

"HNMR (400 MHz, CDCL) § 7.69 (s, 1H), 7.61 — 7.52 (m, 2H), 7.45 (t, J = 7.7 Hz, 1H), 6.99 — 6.88 (m, 2H), 6.86 — 6.75 (m, 2H), 5.46 (s, 2H), 5.16 (s, 2H), 5.13 (app quint, J

1H 2.30(s, 3H), 1.81 - 1.59 (m, 4H), 1.45 — 1.23 (m, 4H), 0.97 (t, J = 7.4 Hz, 3H), 0.91 (app t, J

7.1 Hz, 3H).
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BCNMR (101 MHz, CDCLy) § 168.6, 165.6, 163.2, 156.6, 154.1, 152.9, 137.2,131.7 (app q,J = 1.3, 0.9 Hz), 129.1, 125.2 — 125.0 (m, 2C), 116.1 (sym, 2C), 115.8, 114.6 (sym, 2C), 78.3, 71.0, 67.9,
13C 55.8,33.3,27.6,27.0,22.7, 14.1, 11.1, 9.8.
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13C HSQC
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13C HMBC
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1H '"H NMR (400 MHz, CDCl) & 6.98 — 6.89 (m, 2H), 6.84 — 6.74 (m, 2H), 5.13 (s, 2H), 5.12 (app quint, J = 6.1 Hz, 1H), 4.34 (t, J = 6.6 Hz, 2H), 3.75 (s, 3H), 2.24 (s, 3H), 1.79— 1.59 (m, 6H), 17000
1.45— 1.20 (m, 12H), 0.97 (t, J = 7.4 Hz, 3H), 0.90 (app t, J = 6.6 Hz, 3H), 0.89 (app t, J = 6.7 Hz, 3H). imp—
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13C "“CNMR (101 MHz, CDCL;) § 169.2, 165.9, 163.1, 156.0, 154.1, 153.0, 116.2 (sym, 2C), 115.7, 114.6 (sym, 2C), 78.1, 71.2, 67.6, 55.8, 33.3, 31.9, 29.1, 28.8, 27.6, 27.0, 26.0, 22.74, 22.72, 14.2, 14.1, 11.1. 9.8.

800

~750

~700

650

~600

~550

~500

450

400

~350

~300

250

200

~150

~100

~50

2b (s)
27.01
2a (s) 1b (s)
28.76 9.79
9(s) 4c (s) 5(s) 1a(s) 4a(s) 6b (s) 7b(s)
165.92 154.08 115.67 67.56 31.90 22.74 14.13
6.(s) 4 (s) 3¢,5¢ (s) 3b(s) | 7 (s) 7c (s) 4b (s) || 3a (s) 7a (s)
169.19 155.97 116.16 78.07 || 71.23 55.80 33.28 || 26.04 14.22
2(s) 1c (s) 2¢,6¢ (s) 3 5a (s) 8(s)
163.14 153.02 114.56 8 29.11 11.11
™m O
g_ 2 5b (s)
o~ 27.61
l\\ ™~
6a (s)
PN ~Chs 22.72
5a 3a 2b
| | 24 | o
6a 2a 3b 5b
3
~CH 1a CH;, o7 a7 e ™ NN ~ o
7a i | R NS
° N NN ¥ <
CH, NN N0 \Y¢
g; | | |
5¢c N\ N
RS
30\ /10\ /7
2c O
— N <
O © O t
—Qm
==t '
N
R A
MO AaNANANANANANN 440
558 383 I L O
anm N < ™M at
SE8  L8ay
/ \I \ N I/
I
T T T T T T T T T T T T T T T T T T T T T T T T T T T
80 170 160 150 140 130 120 110 100 90 80 70 60 50 40 30 20 10

f1 (ppm)



13C HSQC

55

-60
65
70
-75

~80

115

* 3¢,5¢ 2¢,6¢ 2a,2b,4b 3a,4a,5a,6a,5b,6b b 7b
QE 3b
— 8 ib
——% 7an
6b 6a
1§ 3
_ 5p 2b
=—-§ 5a 2a @
k3
4a
4b
—i 7c
l: 4 CH
¢: la 5a/ a\3a 9 2b/1b 3
__3, | | 24 | o
- 6a 2a 3b 5b
> N N ST 3
£ \CH3 1a CH3 O/ 4b 7b
k3 7a ? |
3b e} 5 9
DN
:g CH; e
7£ | |
5¢. N\ N
i \40/ \60 1\2/3
— [— |
} seu o AT
2c (@)
T T T T T T T T T T T T T T T T T T T
7.0 6.9 6.8 6.75.2 5.1 4.4 4.3 3.8 3.7 2.3 2.2 1.7 1.6 1.4 1.3 1.2 1.0 0.9

120

S215

f1 (ppm)



13C HMBC
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15N HMBC
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15N HMBC f1 Projection "N NMR (41 MHz, CDCl;) §263.35, 251.21.
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"HNMR (400 MHz, CDCL) § 7.72 (s, 1H), 7.65 — 7.58 (m, 2H), 7.50 (t, /= 7.7 Hz, 1H), 6.96 — 6.89 (m, 2H), 6.83 — 6.75 (m, 2H), 5.46 (s, 2H), 5.14 (s, 2H), 4.36 (t, J = 6.6 Hz, 2H), 3.75 (s, 3H), 2.26 (s, 3H),
1H 1.72 (quint, J = 6.7 Hz, 2H), 1.45 — 1.16 (m, 8H), 0.89 (app t, J = 7.0 Hz, 3H).
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BCNMR (101 MHz, CDCL) § 169.4, 165.3, 163.2, 154.2, 154.1, 152.9, 136.4, 131.7 (app q,J = 1.5 Hz), 131.2 (q, J = 32.6 Hz), 129.3, 125.4 (q, J = 3.6 Hz), 125.1 (q, J = 3.7 Hz), 124.3 (q, J = 272.5 Hz),
13C 1174, 116.1 (sym, 2C), 114.6 (sym, 2C), 71.2, 67.8, 66.7, 55.8, 31.9, 29.1, 28.7, 26.0, 22.7, 14.2, 11.1.
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132.5 ppm]

13C [118.5

o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o
[Fp) o LN o LN o n o LN o [Fp] o LN o o
~ ., P w o v ¥ ¥ Q. P N4 N T F B
7\,
_/ 566611 ——
Vi v
o|g/
—0
NE.Nﬁlul
Gl
b4
® o Lb0°STT
580°SeT
=5 €21°SeT
28 =35 09T'STT~E
il O 6EE'STT~_
fan 77EScT
€TH'STT
bTH'GCT
7SH'SeT
[b0°STT—
580°57T— —
€21°52T ——
09T°STT~ g
6EE°STT—
LLE°STT— E11°82T ——
e1Z Sl —
ZSP'STT~
Oy &
3 zee6el —
8TL0ET~_ ~
TH0'TET
CA £9ETET _
28/ = m$.§/
r MW mvou._”m._ul\ wmw.ﬁm._”/
wn. wmo.HmH Z2/9'I€T
ef| | e

118.55221

130.5 129.5 128.5 127.5 126.5 125.5 124.5 123.5 122.5 121.5 120.5 119.5
f1 (ppm)

131.5

2.5



13C HSQC
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15N HMBC
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15N HMBC f1 Projection "N NMR (41 MHz, CDCL) § 261.95, 251.97.
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6.0 Hz, 1H), 5.12 (s, 2H), 3.96 (s, 3H), 3.73 (s, 3H), 2.28 (s, 3H), 1.76 — 1.48 (m, 4H), 1.34 — 1.12 (m, 4H),

1H 'HNMR (400 MHz, CDCls) 3 6.93 — 6.84 (m, 2H), 6.82 — 6.73 (m, 2H), 5.19 (quint, J
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13C CNMR (101 MHz, CDCL) & 169.4, 166.1, 163.0, 154.3, 154.0, 152.9, 117.4, 115.9 (sym, 2C), 114.6 (sym, 2C), 78.4, 70.9, 55.8, 53.0, 32.9, 27.4, 26.6, 22.7, 14.1, 11.1, 9.5.
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13C HSQC
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13C HMBC
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'"HNMR (400 MHz, CDCL) § 7.72 (s, 1H), 7.64 (d, J = 7.6 Hz, 1H), 7.61 (d, J = 7.9 Hz, 1H), 7.51 (t, J = 7.7 Hz, 1H), 6.97 — 6.84 (m, 2H), 6.84 — 6.71 (m, 2H), 5.46 (s, 2H), 5.21 (quint, J = 5.9 Hz, 1H),
1H 5.14 (s, 2H), 3.74 (s, 3H), 2.23 (s, 3H), 1.76 — 1.48 (m, 4H), 1.33 — 1.11 (m, 4H), 0.92 — 0.74 (m, 6H).
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CNMR (101 MHz, CDCL) § 169.4, 165.5, 163.2, 154.3, 154.1, 152.9, 136.4, 131.7 (app q,J = 0.9 Hz), 129.3, 125.4 (¢, J = 3.8 Hz), 125.2 (q, J = 3.8 Hz), 117.2,116.0 (sym, 2C), 114.6 (sym, 2C),

13C 785,709, 66.7, 55.8, 32.9, 274, 26.6,22.7, 14.1, 11.1,9.5.
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13C HSQC
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13C HMBC
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